Slug42: Corrected RMS (ppm): asym_us_avg
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Slug42: asym_us_avg: |03 -0z, (PPmM)
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Dithering Corrections Width (ppm) by Eigenvectors
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Slug42: Slope : us_avg_vs_evMon0 (ppm/um) Idit_slope] - [reg_slope| (ppm/um)
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Slope (ppm/um)

Slug42: Slope : us_avg_vs_evMonl (ppm/um) Idit_slope] - [reg_slope| (ppm/um)
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Slope (ppm/um)
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Slug42: Slope : us_avg_vs_evMon2 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

" htemp
[ 11 9-0-0-0-0-0-0-9-0-00-0000 , . . 6 M
gression
T - ' | | | Entries 54
I 1 1 1 1 1 1 [ [ 1 1 :
— . . . . . . . . . . . -@- Dithering 5L Mean 0.9821
Lo 1 1 1 1 1 1 [ [ 1 1
e [ ] e Siapev 1928
[ 1 1 1 1 1 1 [ [ 1 1
. 1 1 1 1 1 1 [ [ 1 1
L 1 1 1 1 1 1 [ [ 1 1
T 1 1 1 1 1 1 1 [ 1 1
Fr 1 1 1 1 1 1 1 1 1
. | | | | | | 1 1 1
T 1 1 1 1 1 1 1 1 1
- 1 1 1 1 1 1 [ [ 1 1
T 1 1 1 1 1 1 [ 1| 1 1
[— 1 1 1 1 1 1 [ 1 1 1
T 1 1 1 1 1 1 [ 1 1 1
F— 1 1 1 1 1 1 [ 1 1 1
gLttt
2 2 23 3 3 2 T 88 23 3 3 0 2 4 6 8
[=} =] =} =3 =} =] =} o o [=X=} =} =3
< < < < < < < ¥ < 59 < <~
Run Number

abs(mini_eig.us_avg_evMon2) ) /(ppm/um)



N
o

Slope (ppm/um)

Slug42: Slope : us_avg_vs_evMon3 (ppm/um) Idit_slope - Ireg_slope| (ppm/um)
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Slug42: Slope : us_avg_vs_evMon4 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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